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Lattice 3 by 2

Use lattice multiplication to solve each problem.
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Lattice 3 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
685 x 39 = 509 x 25 = 744 x 95 = N 26,715
6 8 5 5 0 9 7 4 4
1/,’ 2/,’ 1/,’ 3 1/,’ 0// 1// 2 6/,’ 3/,’ 3// 9|2 12,725
21,7 8.7 4,75 1{.” 0,7 0f.,” 8 7.7 3,7 6|.,7 6
’/5 // 7 // 4 ’ //2 // 0 // 4 7 //3 // 2 // 2 7
4 s s ,/ 4 s / // 4 4 4 // 7
6.7 4. 2],75|° 2|75, 0|5 |° ol.s[." 0|, 0> |3 0,680
7 .71 ,75 Y B .6 .78.,70
7 7 / 4 4 4 7 7 7 4 5,140
5, 24,948
4 514 x10= 5) 891 x 28 = 6) 272 x 29 =
6. 7,888
5 1 4 8 9 1 2 7 2
0 // O // 0 // 1 // 1 // 0 // 0 // 1 // 0 //
ol 5|, 1|, 4|t 2|6, 8|, 2| ol 4|, 4l al?|" 9,890
oo, o A, A8,77 710 7, O e
5 // 0 // 0 // O 4 // 4 // 2 // 8 7 // 8 // 3 // 8 8- 10’270
/// 1 /// 4/// /// 9 /// 4/// 8 /// 8 /// 8/// 8
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10. 27,864
7 215 x 46 = 8) 395 x 26 = 9 119 x 44 =
2 1 5 3 9 5 1 1 9 11. 13’500
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L0 3 A58 7, o710 3,
91.” 2(.76|,70 0.~ 8[.74|,70 5.7 4,7 4|,” 6
8,79 .70 2,77 .70 2,73 .6
10) 344 x 81 = 11) 225 x 60 = 12) 621 x 61 =
3 4 4 2 2 5 6 2 1
2,’3,’3,’8 1,’1,’3,’6 3,’1,’0,’6
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/// 8 /// 6/// /// 5 /// O/// O /// 8 /// 8/// 1
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